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If x=3+ 2\@, then find the value of («fi - ————) :
Jx

A 1 M 2

(C) 2v2 D) 343

x=3+2V2 aafld ('\f;:—'%) -&1 UL sTeRT
x

A 1 B) 2
© 2J2 : (D) 3v3

The L.C.M. of two numbers is 495 and their H.C.F. is 5. If the sum of the numbers is 100,
then their difference is

M 10 (B) 46

© 70 (D) 90

Qm aamsEnsElu Befm waiy 495. Cugib el m aarsaflar BLUQU@M wHuy 5. @ ereimsaién
gl () Gsrena 100 erafled icuall(m eramaafien algHwimrad eremuig)

A 10 (B) 46

(€ 170 (D) 90

In a class of 60 students, the ratio of boys and girls is 2:1. How many boys and girls in the

class? .
\gf 40, 20 (B) 30,30
(C) 20, 40 D) 25,35

60 Cur Qarewr_ @ eu@Uile wremeu, wramelsErsE @ Cuwrar g 2:1 ereafle,

Sjcuau@G e wreweu, wrewredseaflen cramranlisans wrg)?
(A) 40, 20 (B) 30, 30
(C) 20, 40 | D) 25,35
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4. IfA:B=5:7andB:C=6:11. Thenfind A: B:C.

(A)  55:77:66 G 30:42:77

(C) 35:49:42 (D) None of these

A:B=5:TwomwB:C=6:11aaflwA:B:C arar.

(A) b55:77:66 B) 30:42:77
(C) 35:49:42 D) eageydeema
5. The simple interest on a sum of money will be ¥ 200 after 5 year. In the next 5 year principal

amount is tripled. What will be the total interest at the end of the 10 year?

M - % 800 (B) %650

(© T 700 (D) T 600

@ Ggrensssnear safl eugwrarg) 5 aumLsSlad m. 200 simLdlpg). SIHES 5 - uBLEHD psd B
Qgrevswnerg 3 - wLmstdng eaafld 10 - aume preld daoLseEn Qurss ey Qsras

GTeUeUETEY?
(A) T 800 (B) ¥ 650
© 700 D) %600
6. Find the missing term

AZ, CX, EV, . IR

\M GT (B) MN
© BY : (D) DW
PuLLeng sear(Hibly
AZ, CX, EV, IR
@A) GT (B) MN
© BY D) DW
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i

Royalty of a book is less in printing cost by

(A)

©)

Royalty 15%
Printing 20%
Transportation 10%

Production 10% Paper cost 15%

Binding 30%

5% (B) 33 1 %

-3
20% M 25%

Blybar Ui LkGEGD 2156 elaasEb 2 dter aflgHwimaid

GV

©)

Brbsy erussld
uiig 15%
: <o&g 20%
Curné@eursg 10%
2 npussl 10% smer eflenay 15%
Cergans 30%
1 2
5% (B) 33-[-3-%
20% D) 25%
5 TAGS/19
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8. Which letter will replace the question mark?

. r‘—z}
@._ —— ’
@
®

A Y B) Q

W s ®) R

Spsa aTps eT(pHg Cadtell Gfl 2 drer @Lgams B,

' A) Z
B \
®

@ Y ® Q
© S ™ R
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10.

11.

How many diagonals are there in an nonagon?

@ 36 O 27

©) 18 ' (D) 20

e peuCsrangdle) erggaman paneal L kg 2 ememern?

(A) 36 B) 27

() 18' (D) 20

Find the largest Number among x@, wj'ﬁ, Y1

@A 2 | \M 13

(C) 4 (D) all are equal

Wemeumeusneummer Guiflu eresr erg)? V2,3, Ya

A 2 ' @) i3

© Y1 (D) s@marggib swid

If \/E = 64 then find the value of n

A 2 ; B) 4

o W 12

V2" =64 erafl@ n e i sremr

A4 2 - (B) 4

C 6 (D) 12
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12.  In uniform circular motion, the linear velocity perpendicular to
(A) radius radius vector

(C) force : ' (D) : momentum

fynen eul L Quisesde CrraGan () HasGeusid £@5§_@'m_§uﬁr)@16'n asnE CemEssTE @) (HEEW0
A) <y (B) <=y Qeusir
(C) elens (D) 2.mhsbd

13. Red Light has a wavelength of 7000A°. In ‘nm’ it is,
(A) 7 nm (B) 0.07 nm
(C) 70 nm : M 700 nm

Aeautiy Bl gaflufien ieneBerd 7000A°. nm-6 g6 wHLL

(A) 7nm (B) 0.07 nm
(C) 70 nm P (D) 700 nm

14.  Find out the correct equations

I H=V?It

I V=IR

I P=VI

IV F=mV?

(A) TIand]II only - (B) III and IV only
7 IlandIII only (D) IandIVonly

sflurer snerurGamerd CoTHEsHSS (g

I H=V?1It

I V=IR

I11 P=VI

v F=mV?

A) I opmo Il vl o (B) III wpmib IV ol @Hid

© Ilwpmd vl Gd D) I wigbd IV ol Go
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15. Which one of the following Hybridisation is present in PCls molecule?

A) Sp*d?
M‘ Sp*d

(& 5

(D) sp?

Wenauheuamaumble erbg @ardaoii PCls apasseadle o ererg:?

(A) Sp’d?

B) Sp°d
(©  8p’

@) Sp*

16. A boys larynx enlarges leading to deepening of voice and he shows hair growth over his face.

This is due to the hormone

Inhibition

y Testosterone

(C)  Oestrogen

(D)  Progesteron

0 Ageuaiean QsramemLL UGS s Gré LTHPD THUGHTDE? CLID BHEUBIEMLW PSSHD

Crmw eueréd) srawriiLBenng). @sH @ sTyawronear anrrGure
A)  @éahGgen

(B) . QLevGrLrmevieCrmen

(©)  rrevigCymlggen

(D) ngn@aqu_Gryrrdn

(= _ 9 TAGS/19
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17.  The ulcer is mostly due to infections by a bacterium called

M Helicobacter pylori
(B)  Strepto cocci
(C)  Staphylo cocei

(D)  Mycobacterium tuberculae

Qupbureb @GLe Lar Camemm sryemrone Lnéie flwib
(A) GemalaGarGusam euCGemf

(B)  avG@ruGLr sréms

(C) B LenuCer sr&ms

(D) ewsCsrurseflub 4w ur GCarsen

18. The surface temperature of the sun is
(A)  2000°C (/. 6000°C

(C)  15000°C (D) 15000000°C

- gfluafler Gupuriy Qeutiublae

(A) 2000°C (B) 6000°C
©) 15000°C (D) 15000000°C
19. The winds that blow from a particular direction throughout the year aré known as the

Mplanetary winds

(B) monsoon winds
(C)  trade winds
(D) polar winds

@D (PPEUGID R .@ﬂﬁllﬁll'_l_ Sepsenw Crréd eSabd sTHmismeT eTeueUT) c‘?{ﬁm@é’»ﬂs’m@mmb :
(A) Gamer s;rr[bgjéﬁsif ‘

B)  umeus sTHMIGET

©) elwrunrys sTHmiser

D) g@assTHHISET
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20.

‘Match the List I with List II and choose the correct answer from the codes given below

(a)
(b)
(c)
(d)

(A)
- (B)

List I

Bhabar

Terai

Bhangar
Khadar

(a

2

N &

D)

1

) B ©

L oW W
W = D QO

(d)

[ A=Y

List II

Newer al

Older alluvium .

luvium

Unassorted sediments
Marshy track

uligwe I I;Il;Lq_UJGb II e Len Qurmpss sfwmen eflent_enw &Gy Qar(ésiiul (Herereundled mbs)
Camps0 -

(a)

)

(©)
(d)

(A)
B)
©)
)

(]

U

&

(]

&

(a

e - ]

Cigwied I
T&T

T
MIGTT

LT

) (b) - (o)

W o W e
B b W

V/SOwet Russia

©)

Germany

—

o

e o

(d)

[ NN

it igwed IT

LIEDLPWI QUERTL ) Lilg. @]

S eueiTL 6 Lilg-6y

sTHPTLTET Uig6

FFIUILL U 6|

(D) India

Qurmermgry HL LI Hsme e penwrs QFuouBssu BrE

(A)
©)

Gamrefwg regwm
Gepmioetl

11

(B) @@ﬁmnﬁg
D) @vdwur

was the first country to practice economic planning on a national scale
(B) England '
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24.

The census is taken once in . — year
(A) 5years J 10 years

(C) 3 years (D) 20 years

&S QST SEMECS[HLIL THFMET U@T(HSEBES R(H (PaD THESILGHD
A) 5 syaEn@sdr (B) 10 syean@sd
©€) 3 syan@sd D) 20 @ @s6

In 1999 the government proposed to implement a special school health programme which
:?p light of life scheme referring to good health. What is the name of the scheme?

Vazhvoli thittam
(B)  Arivoli thittam
(C)  Child care thittam
(D) Human Development

1999 b e TaTans h USw S L apaid udrefl mrrmeum@a;@ B HSHOTET eUTLPeUaTES
Srorefl&sliuL gl g eremer L _1b?

A)  arnpGeurafl S b

(B) efCeurafl HiLib

(C) wvypows Grhbmssdr S LD
(D)  welg cueriéd HLib '

During which time period there was a rapid growth of population in India.
(A) 1901 - 1921
(B) 1921 -1951 '

qpf 1951 — 1981

1981 - 2001

@pSHuireiicy Slenyeurar wése QAgrens cuanisd aps pETHsaid Hoellws.
(A) 1901-1921
(B) 1921-1951
(©) 1951 — 1981
(D) 1981 -2001

TAGS/19 12 _ o=



25.

26.

27.

Which Article of the constitution makes provision for the appointment of a law officer the

attorney general by the President of India?

(A)  Article — 42 \M Article — 76

" (©) Article — 44 ' (D) Article — 153

aps  Sirflue  slLeflug WU s sme@Ww  UWESNET  GYWIsS SEOEITTE

Blublssiu@denpmi?
@A) ordud s ofid 42 (B sLed876
©) sl efif a4 (D) &L ofid) 153

Social contract theory found the support of

(A) Morgan MRousseau

(C) Sir Henry Maine (D) Adam Smith

FPSTW PUUBS deraransss sre| AsMellsseur
(A)  orrser (B)  emGevr

(©). . o Qanend Qe D) <y ibevils

Judicial review is an important contribution of

@ UK | @7 UsA

(C) Germany ' ' (D) USSR

Blglyergmieilen psdlwusgieusans el (panuBSSHu BrH
A4 @rdorpg (B) =Quwissr
© Gleg oe (D)  pegwn

13 TAGS/19
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28. Match the following and answer by using the codes :

(a) . Article 370

1 Legislati\l"e assembly
(b) Article 153 2 Chief Minister
(¢) Article 163 3. Jammu and Kashmir
(d) Article 170 - 4. _ Governor
Codes:
(a) (b) () (d)
(A 1 4 2 3
B) 3 1 4 2
©) 2 4 1 3
M 3 4 2 1

Speumeuatcupenm Qummsd sflwrer ellen_aw Cgirey Qsiis.

(a) 941370 1. sl uGureneu

(b) 9153 2. wsa@WsT

() o4 163 3. @b woHmb sregbir
@ 98170 4. SyEEHi '
CICETS B

(a) (b) (© (d)

A) 1 4 2 3

(B) 3 1 4 )

() 2 4 1 3 i
D) 3 4 2 1

29. The Balwantrai Mehta committee was appainted in
(A) 1975 M 1956
(C) 1950 (D) 1992

UOUBSTT COEST @& SHMWESILILL 6T (H
(A) 1975 : - (B) 1956
(C) 1950 D) 1992

TAGS/19 14



30.

31.

32. .

33.

is an antibiotic obtained from the blue green mold.
(A) Streptomycin M Penicillin

(C)  Aureomycin (D) Chloromycin

(A) e QruCGLrenwélen (B) Quaildleaien
(©)  <fCGurenwéen (D) ©CamCrranodlen

Pyrethrum Extracted from the inflorescence of
Chrysanthemum (B) Citrus

I (C)  Agro bacterium (D) Bacillus

aufgdy agsreur wEpafluladmbg GNE0sHEs0ILIHID

S/ g LwTe &, @8 Be udeme L Ehaneudadmhg) erH&sLLHEDG).

A)  Aepsnpdiod (B) SAigew
(C)  =@&Crmursefwib (D) Cuédleeen
Hlmalayan range length k.m.
@7 2560 (B) 2460
(C) 2360 ' (D) 2400
Quow weaulen Serd S L FsL L ACoor BL_L_frsamm@Lb.
(A) 2560 (B) 2460
(€) 2360 (D) 2400
Humayun the eldest son of Babur, succeeded to the throne in after the death
of his father. _
(A)  AD 1535 BT A.D 1530
(C)  A.D 1540 (D) A.D 1545
Lmulén wrESHDEGL DG SeuUTFH EPSFHDEETEW L DTLLEN b eTH PSOTW
wetresymd QurmGuHT.
(A)  £.91535 ' (B) &£.91530
(C) #£.91540 (D) 4£.91545
15 TAGS/19
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34. The invasion of gave a severe death blow to the Maratha empire
(A) Nadir Shah d Ahmad shah Abdali
(C) © Muhammed Shah (D) Jats

wirmenlw ueL_w @y wrrsdlw Currdlen eSpFdlé@ srejwenfl oig 558
(A)_ BISIT agm (B)  oswg agr 2li5med
(C)  qpawg agr D) ol @Hser

35. Match the following :

(a) Satyashodak Samaj

—

Sir Syed Ahmad Khan
Baba Dayal Das
(¢) Nirankari movement 3.  dJyotiba Phule

4 Baba Ram Das

!53

(b) Aligarh movement

(d) Namdhari movement

(a) (b) (© (d)

A) 3 2 1

M 1 2 4
€ 1 2 3 4
D) 2 1 4 3
Spsem_aihenm CLITHESS.

(a) &s8w Gensé somed
(b)  sdlart Quissd
() Hrmsril Quasd

&I WG| SIHLOG) SHITen
UL SWITET &T6n

Cgrdlur yGe

e O B

(d) prbsTi Qussid

LITUIT 7LD ST

(a) (b) (c) (d)

A) 4 3 2 1
B) 3 1 2 4
© 1 2 3 4
D) 2 1 4 3

TAGS/19 16



36.

38.

39.

Which place in India become a heaven for the feeling terrorists?
(A) Mahe (B) DBangalore
! \W Pondicherry ' (D) Karaikal
Bidwurelen aps LGS, U9 @HL Selyaundsaiicn Qsriésiwns sHSLILLLE
(A)  wrGs ' (B) Qurisgesi
(C)  unewrg§Ceiil - (D) sreaysste
The Moplah Rebellion (1921) took place in
(A) Telengana Malabar
(C) Maharastra (D) Gujarat
wrdert sesb (1921) e GuHn @b
(A) Qseyiisment . (B) weumt
©)  wsmymeggyT D) GRS
Who was the true disciple of MG Ranade?
(A)  Tilak @ Gokale
(C) Gandhi (D) B.C. Pal
MG grenGLufern 2 awmrenowimen LT wimi?
(A) Baesi - (B) GsraCe
©C) smpd (D) B.Cunme
Name of the scheme which is launched by the Union Government to encourage farmers for
solar farming? . '
(A) KUTUB scheme (B) KUTSUB scheme
(€) KUSUN scheme " KUSUM scheme ;
&M 868 o Husésns eleusmisamer eassailss weallwear rerd HpululL Sl hear Quuwii
Green?
(A) KUTUB &b (B) KUTSUB # L
(C) KUSUN #ic b _ (D) KUSUM i iid
17 TAGS/19
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40. Which of the following is the cleanest city of Indian as per cleanliness survey — 2017?
" (A) New Delhi (B) Bangaluru

M Indore (D) Mysore

gnienw siGa—2017 Qenuig. QnHwreden ss SNUOWITET HETID 6187

(A) ugdad ’ (B)  Quissenm
© Qbani ' (D) @y m
~ 41.  The first Nobal prize winner from Tamilnadu was
(A)  Venkatraman Ramakrishnan (B) Subrahmaniyan Chandrasekhar

W Sir Chandrashekar Venkata Raman (D) Amartya Sen
g@gagﬁaﬂ@ﬁg wpsen wsdld Crrud ufls Quppeurt

(A) Qeamslgmoer gmosdlmeganren B) sugweflwen spdy Cosir
(C) & spfyCeam Qeuris_LFmnen (D)  oQuirdwunr Qsen

42.  Arya Samaj was founded by

(A) Raja Ram Mohan rai \W/Swamy’Dayananda Saraswati
(C) Ramanujar (D) Sankarachariyar

2T sorRSHs CoHmeisseu

(A)  grgmymd Cuorsenymi (B) &eumd swrents syeveud)

(C) @omwreygm (D) smsyrégruwri

43. Which is the most spoken language in the World?
(A) Taml (B) English

W Chinese (D) French

.&m‘ﬁGa}Gu SiSlawrs Custiu®bd Gwml erg?
A)  sblp B) ymdleon
(C) &b ' (D)  Y9QyEHs

TAGS/19 18



44.

45.

46.

Who is selected as the 14tk president of India?
(A)  A.P.J. Abdul Kalam (B) Pratibha Patil
(C) Pranab Mukherjee ) ' M Ramnath Kovind

@nswreller 14aug) Gl wrs samaeurns CaihblsH sl L eulm wimT?
Q) g.9.Cx. siugosb (B) Ygdurmurlied
(©)  Qpewri apaied) (D)  gromrs Cerellhs

A new form of matter, named excitorium has been discovered by whom?

M Bert Halfer - (B) Bert Kepler
(C)  Bert Shalper _ (D) Bert Walper

ergedl_Grreflwmd AT DYEDLPESLILI(AILD L_L@C;]UJ &IHET Wryre serLHwiul L g?
A) Quil Gaméur (B) Quil Qemliert

(C) Quirl agmeou (D)  Qurl surebur

Which the first smart city in India to run on 100% renewable energy during day time?
(A)  Surat \& Diu
(C) Dharnai (D) Durgapur

use Cprsdler 100% LgmL9sss 568 ADDmL QUESL P& WIHEGMLW QS BeTb e1g)?
A 15 - B v
(©)  srrewer ' D) grsryr

With which company Andra Pradesh Government collaborates IT projects?

(A) Google \M Facebook

(C) IBM : (D) Apple

<pd7 e [T Sl kismer arhg HneuandgiLan @UIUbBSD Qeuigarers)?
(A sa@er . B) GCuevys
©€) mGeb ' D) <puQer

19 TAGS/19
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48. Find out the missing number of series

4 11,1
81'547 36" 24"
1 1
A — BY - =
A) 13 (B) 39
1 1
I o =
M 16 © 5
Spsesr @ﬁl‘rt._lﬂd)l@ﬁ]@uf_l_ CTERTEH GO HITEHTE
-1 1 1
81°54°36 24"
1 1
A — B
(A) T (B) 39
1 ' 1
C — By - =
©) 16 (D) 9

49.  If the cost of fencing a circular path at the rate _of T 5 per metre is 1100,' then the radius of

the park is i
35m - B) Tm
(C) 565m (D) 11m

@@ L el yrsrelng Ceaue Cur gm BLL(bé@E T 5 aisb a. 1100 <@ erafld, yhisrelar

DT CTEDTLIG)
(A) 354 | - B) 748
€ 558 D) 118

50. 280% of 3940 = ?

(A) 10132 2 @/11032

©) 11320 (D) 11230

3940-¢» 280% ereucuerea]?

(A) 10132 (B) 11032
(C) 11320 (D) 11230

TAGS/19 20 | ¢



51.  The rates of simple interest in two banks A & B are in the ratio 5:4. A person wants to
deposit his total savings in two banks in such a way that he received equal half yearly
interest from both. He should deposit the savings in banks A & B-in the ratio

A 5:2 @) 2:5

yf 4:; D) 5:4

A womgd B odlu @rean(® cuiwdlsaflen safleulgsarar euligwneng 5:4 erenp ellflssda 2 dreng
Rl saigl  (ppSbsTsmwLd Granh cumdsal@id @y eUmL el lgWreag FOWLMS
Gma@bugwts Gflss sl daudprt eraflld e psed®H belg Asraawureag abhs eNdssHa

AICLICH

(A) 5H5:2 B) 2:5

©€) 4:5 _ D) 5:4
52. Find the cost of carpeting a room 13m long and 9m wide with a carpet 75 cm broad at Rs. 8
' per meter

(A)  Rs. 1240 (B) Rs. 4248

y Rs. 1248 (D) Rs. 156

75 Q&.15 @z Qarar ey allflinder eflened B L (&@E 8 epumi erafled, 13 B0 it Barb 9 Bl
25D QETarTL @if Denm (P(PeUGID 2UHs ey eflfllienu eminés G QFwe, cremen?

(A) Rs. 1240 (B) Rs. 4248
(C) Rs. 1248 (D) Rs. 156
84, If-E—zg,thevall.mof:’C_y+E is
2y 7 x+y 19
13 15
A = B AT
(A) T (B) 5

\Vl_ ® 1

B B i 8

14 . ; ;
T WL SreTs.

2y 7 x+y 1
13 : 15
(A) T B) 18
' 1
1 D) 1—
©) (D) s
(o= 21 TAGS/19
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54. In how much time will a sum of Rs. 1600 amounts to Rs. 1852.20 at 5% per annum

compound interest
(A) 2 years
(B) 1 vear

(C) 4years

MS)eals

erumi 1600 oergy 5% pam(® sl (h euly aisb Casnar(h cTrdsemer %W@'&Gﬂ@ mumi 1852.50
G ? '
(A) 2 gyar@psafe
C(B) 1 syengd
(©) 4 yanpaaia

D) 3 syammsafe

55.  Ais B’s sister. C is B's son. D is C’s daughter. A is of D.

(A)  Grand Father

M Grand Mother

(C) Son

(D)  Daughter

A erémueui BuQen &G&rr;g,ﬁl, C eremmucuir Bulen waser. D eramusui Cullen waer arafled A eresucui DuSten

(A srggm
B) umiiyg
(C)  waer
(D) s

TAGS/19 22 : =



56. a a
+

x—-a y-a

If x+vy=29, then the value of is

A 2

W o
© -1
D) 1

x+y=29 aaila i

a1 Gl
x—-a y-a

(A 2
B) 0
C -1
D 1
57. Find the compound interest on Rs. 6250 at 14% per annum for 2 years. Compounded
annually

(A) Rs. 1670.40

(B)  Rs. 1525.50

\y/ Rs. 1872.50
(D)

Rs. 1175.70

S (. 6250 Seng 14% sl B eully (pemulla 2.%6561'(95@&@ efl_ il L mé, iFmaEmen aau_@\
aulig S wrg?
(A)  em. 1670.40
(B) . 1525.50
(C)  em. 1872.50
(D) ¢ 1175.70

= st A 23 TAGS/19
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58.  Find the missing term

GT, IR, KP, , OL

(A) AZ (B) BY
MN (D) EV

ANHULL s a9y

GT, IR, KP, , OL

(A  AZ (B) BY

(C) MN D) EV

59.  The simple interest on a certain sum for 3 years at 14% per annum is Rs. 210. The sum is

(A) 480 (B) 600

E M 500 (D) 630

(B eul_lg 14% eramayid epempreantHaatier g Garansufer aul iy op. 210 erafler Sibs Cgreans
(A) 480 (B) 600
(©) 500 D) 630

60.  Find the rate percent per annum when a principal of Rs. 7,000 earns a Simple interest of
Rs. 1680 in 16 months

M 18% B) 8%

© 12% | (D) 10%

en. 7,000 2i8a)15@ 16 wrsmsEnsE . 1680 safleul iy Hla_ggmed, el iy aisgmss sam (g
a) 18% (B) 8%

© 12% (D) 10%

TAGS/19 24 =



61.

62.

63.

What will be the compound interest accrued on a sum of ¥ 7200 at a rate of 5% per annum in

2 year?
M T 738 (B) ¥ 1738
(C) T 1268 (D) %648

5% cu(bL eul_lg. e9dss8e mrumis 72006@ QTem(H aumLsHD HenL_&@Lb sal () cul_ly ereueuaTay?
(A) T738 (B) ¥ 1738

(©) T 1268 (D) T 648

The election of the judges by the legislature is seen in the country of

(A) India (B) America

(C) German M Switzerland

Boudlser slLweammgsred CabblsBHasiumn weap YerupnuuGD BrE
A)  @pHur B) <Quisst
(C©) Qgirwef (D) sl srenbs

A ray of light is incident normally on a glass surface of refractive index 1.5. The angle of

refraction is

(A)  30° (B) sin' (0.666)
f o (D) sin' (0.75)

gaflellawsd eramm 1.5 2w sewmenmg urtder Bg gaflureang @ssrs ellid Cumg), galelase

Gamewribd,
(A) 30° (B) sin' (0.666)
© s&f (D) sin! (0.75)
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64.

65.

66.

How many asymmetric carbon atoms are present in a glucose molecule?
A) Two (B) Three

W Four - (D) Five

om GERECated mpasamblad stariu@n Corss Ermowdn sTiud igssaien aamaflEms
GTHGENE ?

(A)  @uen( (B)  epemmy

© prag D) @bl

Which one of the following compound is used in the treatment of asthma and whooping
cough? : ;i

(A) Benzyl alcohol
(B) .Benzyl acetate

\M‘. Benzyl benzoate

(D) Benzoic acid

Yemeumeuameudmiar 6Thg C&TDD DLEVFIDT HMID &&@Geumen @ (HOQIEHS, W(HHSTS LiwieTu Hdlng)?
(A)  Querenged sLwsaDT®

(B) Querenger G

©) Quenengd QuanCarGuil

D) Quersmuis ouleid

Which one of the following process is used for the concentration of Argentite ore?

(A)  Gravity separation method

, M Froth Floatation method

(C)  Electro magnetic separation method
(D) Chemical method

Getreumeuameunbley irgenenL L Mg erhs apenmule i rnisstuBHpg?
@A) yeduSiiy apep |

B)  mery Y e

(€C) WBemsrpsl ALY pern

D) Ceudulwe apenrm
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68.

Match the following:

(a) Radio active waste

1. Incineration

(b) Bio medical waste 2. Land fills
(¢) - Cyanide waste 3. Surface impoundment
(d)  Small amount of chemical waste 4. Bioremediation

@ b  © @

“ 2 1 4 s

B 3 2 1 4
) 4 3 2 1
D)y 1 1 3 2
Qummsgis
(@) &8 eids sifley 1. efigg emnbuersse
(b)  wmsge spley 2. Pesdld Blriyse
() ewsweer(® sley 3.  Cupuglidle pymeussa
(d) Adgereurar Coudw sifley 4. o9flws ey

@ ® © @

A) 2 1 4 3
(B) 3 . 2 1 4
© 4 3 2 1
D) 1 4 3 2

First aid to be given to an electucated person with cardiac arrest
(A)  External cardiac compression massage
(B)  Mouth to mouth resuscitation
(C) Cardio.— pulmonary resuscitation
All of the above

Wensmy gré@gond @swsgigly Hlam el L @meumsE Copbardrer Gaudmgw o L ey HdFms
penp - |

A) 2Lenquns oriyl ugdlude Qswsdbe Cd iwsd Wmese
B)  aumler God aurl meusg) seuTss gnam o Gleuige
©) @sw - meoruired Qewe gremr_d
(D) Copeadiu senersgid
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69.  Who had developed the central place theory?

(A) Thamos Robert Malthus (B) Vanthunan
.@f Walter Christaller (D) Webar

eww GL&Casriun’eamL oPlapstiuBsSHwueui wmm?

(A)  gmwev @pTurl LrOSE . (B)  eunengnewren
(C)y  eumerim &fevLmeor (D) Geuur
70. Which one of the following mountain system is oldest?
(A) Siwalik Range ' \M. Aravalli Range
(C) Western Gh_ats (D) Vindhya Range

Yleteu(meuameuDmIET 6rgl L&) LIPEnLOWITE enaSoISML TP
(A)  Sfeardlls wares Qg,m_ll:r B)  <=yreudel mmsu{é;gg;m_r'r

(©) Cune QAsriss wenaser D) pHus wenevaer

71. The third éxpansion of population growth was stimulated by the
(A) ~ White revolution

@( Scientific and Industrial revolution

(C)  Blue revolution

(D)  Green revolution

EPETDTeUS] (PerDWINS 6Thg LTl &lullen grem (Hgedlanma wéser bgmems Glumalwg
A Cleudrens urit® '

B) oMelwd Qsme mul Y8

(©) Sevygléd

D) usepwLyTLS
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72,

73.

Agricultural Productivity =

M Total Production

Amount of inputs Emploved

(B) Total Production
Area of Land

(C) Total Production

No. of workers Employed

(D) . Total Production

Total Capital Employed

Ceuarramento 2 HUSE) =

A)  Qurss 2 pusd

Ceuarerd@ 2iwMgsLILLL 2 aratBHasafler ojerey

(B) @mngg,lngug’ssﬂ

Blevg gl UrULETE]

(©) Qurés 2 puss

Couaned@ DwMSFILLL L seflen eramrentlbens

@)  Qurgs e pupd

Qs psd B iarey

Which year is described as the year of the Great Divide?

(A 1951 G 1921

(C) 1981 _ (D) 1901

s peren Qumbifleflener ayemm® erem &HSLILIHID?
(A) 1951 : B) 1921
(C) 1981 (D) 1901
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74.  Which Industrial policy restructured the public sector and encouraged private participation

in the economy?

(A) 1817 | (B) 1960

(©) 1990 | M 1991

ahs ey ydw QemfipQasraramswuneang, Gurg gon finauamselear wn Framwlibameny,

saflwniggienn unGaHeULID 2@ e SHer.

(A) 1817 ~(B) 1960
(C) 1990 (D) .1991
75.  The teaching of resulted in the birth of socialist state in Russia and China.
A)  J.5.Mill ; | (B) J.A. Schumpeter
W Karl Marx - (D)  Arthur Lewis
pagwmelab, Fammellgb FOSTD & 2_(HeUITs: ullerr o MleyenyaGer STFERTOMELD.
A) J.5.He - B) J.A sbSi
(©) .;;rrr'rc;b wmitéen D)  =iigt gneo
76.  The modern State is a State.
(A) City Stlate ' (B) Feudal State
(C) -. Nation State . \M Welfare Staté
Bear 2478 STETGLD.
(A) pesyors B) Heuldrysge igs
(C) @aﬁ (Css) 2ipa D) wésdr po BirEH
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7.

78.

T

9.

The General Assembly of UNO passed declaration of Human Rights on
December 10, 1948 _ (B) October 24, 1945
(C)  October 24, 1947 (D) * December 10, 1946

o&Hw prHser seneuufer Qurg gamuwme wells 2 Meanwsear WrsLeand Qesaflufiul L o6

(A)  gebur 10,1948 (B)  =&6CGLmum 24, 1945
(_C) <1&CLmur 24, 1947 (D) genumr 10,1946

Which one of the following statement is correct with regard to the qualification of the

Supreme court Judge?

He/She must be ba citizen of India
(B) He/She must have worked at least 5 years as advocate in High court
(C) He/She must have worked as advocate in munsiff court

(D) He/She must have attained 65 years of age

o &g BHwen BHuureushanar s@Hser upHlw GDeremb smpmsaiic sflunears) erg?
A)  euen/sioueT @bl Brliger Glgo&eerTs @) (Has Ceuem(Hib

(B)  =euen/jeuet e wir Hweamsdlen GDHSS BHS uBHLL aussderrTs uaflurhb Qmés
Couamid

(Cj qgimeﬁlaeud"r wreul L BHlianngdlen cupssileyrre uatwmbil &) mas Ceusr(Hitb

D)  seuen/seuer 65 euwemg s BsaurTs @m&s Geuemm(Hib

The maximum permissible gap between two sessions of parliament

- (A) 3 months (B) 4 months

(C) 1year \(9/ 6 months

BILTEpLemSSl @ dnl L hi&sEhsE @ ulld Bme@h sre Qe Geuafl
(A)  pemy wIGRISET (B) mmeing wrgriser
C) @ amLb ' (D)  <=pm wrgmiser
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80. Which of the following statements is/are correct?
1. The Pl'esiaent'()f India is the head of the State
2. All executive powers of the Union are vested by the President
(A) onlyl (B) only2
W 1,2 both | (D) 1,2 both are incorrect

Weneumeuamaunmiet sflwrenens Agifley Qelis

1. GG WITES SEHEUIT BT _Ig 61 HEDEUIT eUTT?

2. mrligen fliteuns lsrrmaar wreb G wrss smaauflib 2 drarg

A 1w ' B) 2w @

(C) 1 whmid 2 D) 1 wombd 2 seupreanene

81. Assertion [A] : The Vice-President Presides over the meeting of the council of States
Reason [R]: He is elected by the council of States

(A) [A] and [R] are true, and [R] is the correct explanation of [A]
(B) [A] and [R] are true, But [R] is not the explanation of [A]

(C)  [A]1s true, [R] is false

(D)  [A] is false, [R] is true

apm (A) s GYuIss s@ae Tblomsme sal L BISEHEE samaawGundpm

smyewd [R] : sjeur wrblomser gmeauulanmd CaiposH&s L eur

(A)  [A] womo [R] @rewr®b sfl [R] eremug) [A] e sflwrer eflengesn
B) [A] vpmwd [R] @rampo sfl apenmed [R] eremug) [A] uler sflwren eferésid i
WP~ (Al 5l [R] saupy

(D)  [A] seugy [R] &

82. In Abelmosclus esculentus, the fruit is
(A)  Drupe (B) Schizocarp
(C) Regma M Loculicidal capsule

gRudwravEeD cravELaTL v Sreugsden safl cuams
(A  Cemu (B) Yereyseaf
(C) Quswom D)  Gws sen Qeugsafl
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83.

Consider the following statement, Choose the correct answer from the codes given below.

Assertion [A] : The Bulanddarwaza at Fatehpur Sikri was built by Akbar
Reason [R] : He wanted commemorate his conquest of Gujarat

_ \( Both [A] and [R] are true, and [R] 1s the correct explanation of [A]

84.

85.

(B) Both [A] and [R] are true, But [R] is not a correct explanation of [A] |
(C)  [A]is true, but [R] is false
(D)  [A] is false, but [R] is true

Epaumbd aunsdurisamar gLl wrss Qesran® sflurar eleLaw AstssuucL GHHsafld
Qg Cara) Qauis.

sanm [A]  : @sur uGsu i Hafude Lobsreuraraney &L g
sryend [R] : ieupg @mrrs Qeundluflen Hlanemeims g sl L’ L g

Q)  [A] womb [R] Qrewr@w &fl, [R] eranug [A] 2w sflwren elerssion g
B) [A]l vpmb [R] Qran(®b &, [R] eremug [A] 2w sflwmer elerésid e
(C) [A] vl @ &Ml e [R] seum

D) [A] pouy sy [R]

Treaty of Purandhar was signed between and Shivaji.
M Raja Jai Singh (B) Afzalkhan

(C) Shaistakhan (D) Nadir Shah

Sleurgl wimmLe LTHsT 2L eUigSbens O&igs0lsmemrmit

(A grggr Geguidle (B) dsdsman

(C) QeulevL_smer (D) prdli agm

Shivaji’s revenue officials were called

(A) Deshmuks (B) Kulkarnis
w Karkuns ' (D) Silahdars

SeurgQuilen eumHEUMUISSID DHIEITSHET TUGUTM) &@Q&&QULLGHTI:I'

(A) Cseyqps@ser (B) @ostalser

(C) sheacuser D) Aengniser

33 TAGS/19

[Turn over



86. By the 31 May 1789 the total arrears of tribute from Kattabomman amounted Pagodas
(A) 3210 Pagodas . (B) 3110 Pagodas
(C) 3410 Pagodas JPT 3310 Pagodas

1789 G 31ib prem samd@ iUy s Gumbwes sliusbsTens Hlaieneu ereuaiareay?

(A) 3210 uGsrLrssen _ (B) 3110 uCarLnsser
(C) 3410 uCsrnsser (D) 3310 uCGar_négear
87. Coloneltodd, Johnson Duncan, Maleolm and other British administrators have discussed
about what evil?
(A)  Widow Remarriage (I‘*‘emale Infanticide
(C)  Child Marriage (D) Purdha system

siee) Lms, smengen Lenger, wrsbd Gurern Gl gey oyl Swuremrser ereng '@gﬁ]é,@ ellengsions
e Cawgniser? '
(A) cllgeneusar miweid . (B) Quaw AssQsrane :

C) ©GYwbms wewTd (D) ursT @perw

88. Which Act introduced Dyarchy at the centre? ;
(A) Indian councils Act 1861 (B) Indian councils Act 1892
M Government of India Act 1935 (D) Independence Act 1947

ﬁ(ﬁg; LLID WSS rsmhsssle Qe 2l & apanmenw grHuBisHuig?
A) @bdw seyensled s 1861 B) Gnswu &ma&rﬁab gL 1b 1892
(C) QndHwu siremmig s b 1935 (D) &spdrsLbd 1947

89. Who came to India as the new commander in Chief of the Indian aronies in 1902?
(A) Lord Minto (B) Lord Curzon
Lord Kitchner ' (D) Lord Reading

1902 =yib yer(h @pws uen g serudwurs @bwmedneE eumans yflbseur wini?
(A) - BerCGum Gy (B) sirger Gy
(©C) dserm gy D) fgm Ggy
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90.

91.

92.

93.

Who has conferred with the “Times power women of the year 2017 (Pune) for global PR?
A)  Jayoti Lahari M Shabnam Asthana
(C)  Amrit Ahuja (D) Bela Rajan

2017 sy emigen L et  wsaflt adl(mpg (IEL@GGI!) 2 wsemmedw 9. WNHEES
saflsstulLg?

A HCwrd ewarblfl (B) agliend eevgmeanm
©) =il sGmr . (D) CGuemm graget
India ranked . in international Intellectual property (IP) index released by the

VS chambers of commerce.

@) 28 W

(C) 50 : D) 32

246wfés QummearTsTy sanuwmed dHlefdasiiul L udllifbd 2 wsara| fleunihs Cersg GO g
@nSwr Qubmerer @b

A) 28 B) 44

(C) 50 (D) 32

The World’s second oldest magnetic zircon has discovered from which state of the following?
(A) West Bengal (B) Kerala

(C)  Andra §.on 7 Odisha

Gemreumeuaneupmiet  eTbg  wrBlsde 2 edlan @ge&m-_rreug} upewbwrer  srhg  ATCasmen
sy SesiulLg?

(A) Geusvl QuissTe (B) GCsgerr
©)  opdor D) yer

Who among the following was the first Indian to be appointed as a Judge of the
Madras High Court?

(A) _P.V.Rajamannar (B) S. Ramachandra Iyer
T. Muthusamy Iyer . (D) Indira Banerjee

Gerreupeueneupmier Qaemeanen e wirSdwamsden BHudurs HludlaEsiul L wpse @bHwim wmr?
A) P V.grguwerent _ : (B) S. gmwsigly swir

©) T. wpsgemd guir (D) @y ureriall
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94, How many members are nominated for Rajya Sabha?
(A) - 10 : B) 11

M 12 M) 13

prew FurelnE e&ss UL ullbgiamrssuu@n 2 nindeaiser absmen?
A) 10 (B) 11
€ 12 (D) 13

95.  Who Launched the Joint polar satellite system—I?

I  NASA
(II) NOAA
(II1y ISRO

(IV) ASRC

Choose the correct answer from the following

(A) (I) and (IIT) only I\B'((I) and (II) only

(C)  (III) only (D) (1D, (IIT) and (IV) only

FLB smeu QeupamasCsrer ewiiy — I (Joint polar satellite system—I) eremm eflamswsms
geilwg wni? -

@ NASA

(II) NOAA

III) ISRO

(IV) ASRC

A @ womw III) L ED | - B) @ wopw JAI) wlEwb

(C)  (IID) vl @Hw D) aD), A1) wompw V) wi G

96. Whicyis called as ‘ Blue Planet’ of solar system?
Earth (B) Mars

(C)  Jupiter (D) Saturn
& flw wewr_egdler ‘Beo fysb’ erenr en&sILHMG 687

A g (B) Qeeusumis
C)  eSlwumpen (D) saf
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97. Which is the biggest Island in the world?
Greenland (B) Madagascar
(C) Sumatra (D) Great Britain

2 0&lCaGw WasLAuflu Say ergy?
A) dfeeorng | : (B) wLsmeven
(C)  awsyT (D) eﬁl@mj__ A Lem

0% B) 5%
©) 12% , D) 18 %

98. ‘:;"I}is the GST rate of tax for educational services?

a6l Caanousepssran #ré@ wHmib Ceameu aufl el eramen?

A 0% B) 5%
© 12% D) 18 %

99. In which year, name Chennai from Madras was officially changed?
(A) 1990 - (B) 1993

' \p(' 1996 (D) 1999

wgITen eTerrm QuWT deenener eTer <SSy L Teuns rHDULIL L Sy ( 6Tl ?
(A) 1990 B) 1993
(C) - 1996 D) 1999

100. Which is the National song of India?

(A) Jana Gana Mana MVande Mataram

(C) Thayin Manikodi Pareer (D) Raghupathi Raghav RajaRam
@sdwurefer Colw umrLe ergy?

(A) e sewr wewt B) anGs wrgrn

(C©)  smler weanls Qamg uni D) yEud sTe6u prETFMD
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